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{o} cV ={(z,y,2) € R | ax + by + cz = 0} C R3 : ¥{4r2=Hl.
{o} cV={(z,y,2) €ER3 |z =at,y=bt,z=ct(t cR)} CR3:
o3 25 TH].

ERE

Vo SR ZE.

WcCV=>WIER#23,7,8,9,10 ZA47-7.
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Vo KRAER, W CV i RA.

W CV: o2l —

(@) u,veW=u+velW (RHE]1)
(WIFIZOWTEH LU TWS &\ ))
b)ueWkeR=kuecW (~H6).

(WIE AA T2V THUTWS 2\ )

(=) AEL1~10 &2 A7 T DT OK.
(<) EOFEEELD, K45 Z2REIE L.
ueWw. (b) £v, OGRTO~M%E3®GWJ:V)/A\1E4@ZOK.

—-1eRT(-1)-u g3—UEWJ:V)(L\\fE5:E)OK. O
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M272 = M2,2(1R) D ERR S D 2 x 2 F7F AR,

W:{<2 g) a,beIR} C My - WA 2T,

. o 0 al . 0 ag
A= (2 ) m= (2 %) ewnen

. 0 CL1+CL2 . 0 ka]_
A+B_<bl—|—b2 0 >6W,k‘A—(kb1 0 )EW.

£oT, EH4 &b OK
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V={f:R— R} : R EOEHHEELK2A

W =R[X], : n IREAF DL IHA 4K

=W CV: #hsa2em.

f,ge W,k € R.

(f +9)(@) = f(2) + g(x), (kf)(@) = kf(z) Ic& D, f+g,kfeW.
XoT, EH4 XD OK.
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V={f:R— R} : R EOEBHEELK2A

W = C(—00,00) : R D FEME R B4k,
=W CV : EB47ef.
cf,geEWkeR= f+g kfeW EM4 XD OK.
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aixr - Qin 1 b1
A= : : € Mpp x= : b= : WZxF L

aml - OGmn Tn bm

T, Ax =b l3# 7 1 RAER

1121 + -+ + a1pxy = by

am1T1 + - - + ATy = by

ERT. b=0Dr &, W={xeR"|Ax=o0} CR": #452=M.
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W ={xeR"| Ax = o} C R" : #8522 H.
cx,x e WkeR

= Ax =0,Ax' =0

= Ax+x)=Ax+Ax'=o+o0=0. 2T, x+x' e W.
Alkx) =k(Ax)=k-o=0 &V, kxe W. EH 4 X b OK. O

W={x€eR"| Ax = o} I¥ Ax = o D fi#ZE[H] & Li¥Nn 5.
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% (1 GG T B)
R VweVBRZ Mlvy,...,v, eV ZHVT,

w=kwvi+ - +kv ENFBELE,
wiEvy,..., v, DIIKFEATRITS 0D,

§

i

u=(1,2,-1),v = (6,4,2) € R3.

w=(9,2,7) & u,v D 1LIKESTH»IT 5.

w = (4,-1,8) I u,v D 1L IEEE THIT AR,
cw=ku+kv&dbe,

(9,2,7) = k1(1,2,—1) + k2(6,4,2)

= (k1 + 6ko, 2k1 + 4ko, —k1 + 2k2).

1%’2ﬁ§< &, kl = —3, /ﬁg =2 ?tﬁb%, W = —3U+2W.
W,:k1ﬂ1+k2v LB,

(4,-1,8) = k1(1,2,—1) 4 k2(6,4,2)

= (k‘l + 6ko, 2k1 + 4ko, —k1 + 2]{}2) DFFIL RN, (%g)
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